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RELACAO DO AGCO

P1 P2 P3
2xP4 2xP5 P6
P7 40xP9 P11
P14 27xP16 P21
P22 8xP23 P24
8xP29 P39 2xP40
P44 10xP46 2xP58
6xP62 4xP64 6xP65
P69 P70 2xP75
P111 P122 P130
P137
ACO N DIAM Q UNIT C.TOTAL
(cm) (cm)
CA60 1 5.0 337 87 29319
2 5.0 584 71 41464
3 5.0 2109 77 162393
4 5.0 77 24 1848
5 5.0 35 131 4585
6 5.0 87 29 2523
7 5.0 52 21 1092
8 5.0 162 93 15066
9 5.0 88 107 9416
10 5.0 162 124 20088
11 5.0 54 117 6318
12 5.0 54 34 1836
13 5.0 22 24 528
CA50 14 10.0 12 217 2604
15 10.0 182 287 52234
16 10.0 8 189 1512
17 10.0 6 413 2478
18 10.0 364 315 114660
19 12.5 48 315 15120
20 12.5 14 287 4018
RESUMO DO ACO
ACO DIAM C.TOTAL PESO+10%
(m) (kg)
CA50 10.0 1734.9 1176.6
12.5 191.4 202.8
CA60 5.0 2964.8 502.7
PESO TOTAL
CA50 1379.4
CA60 502.7

Vol. concreto (C-25) =21.88 m3

Area de forma total = 392.79 m?
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